ICALCULO MENTAL

Propiedades potencias

A B c D E F
8 6
1 3 g 3.3 =3" | x3°=12° | (5') =5 | x.8=15° ¢,
32 36
X 29 X 2 X X X
2 | 77 =7 =2 (45 =4 74.2% = x4 (@f=3 442 = 4
3 (52)3 — 5X X4_54 =104 2)(_26 — 28 35 _32 =3X 6)(_64 :69 (43)X =412
3
4 | 225°=x® | (32) =3¢ 40 = x o P = x X222 =16°
5
5 | 4%.43 =4 50 — x 32.35 -3¢ | 5X.5%_57 %:4* 6% 6% = 6*
6 gzz : 7270 =7 | 520 =y 9° = x 3.3 =3 6° = x
6" 5, 2 4 X
7 7° =x =6 =" (72f =7 (6°) =6 62.72 = x2
X 6
8 x5.25 — 65 (64)2:6x 4_5= 3 92,97 _ X 26,36 _ y6 7_3_7x
4 7
9 (72)X:76 22.62:)(2 4.46:4X 7_3= 3 52.56:5X %: 4
7 2
10 | 5.5 =5 | 62.6=6" | (22) =22 | x.4=12 =9 (22f =2
6
11 | 3*.32=3 ;_?:72 () =7° 8.8° = 8" (6') =1 R
7 6
12 j_x:42 (4x)3:4e 32.62 = x2 (Zx)3=23 27:52 (32)x:1
x 3¢ 3° x 28 6°
13 (32) =1 37:X 37)(:34 (63) = ?ZX §=63
14 (6x)2 _ g2 g3.23 — x3 (52)x _ 25.75 = x5 74.3% — x4 (5x)3 _5°
7
15 | 8.32=x | (=1 | (f=3 -2 3.8=3 | 27.2=2
7 8
6 | Z_» P .3 =3 Z oy 6-6=6' | (@f=20 | 7.7°=7
2 %
6 2
17 34_3x:35 5_:5x 56_5X:57 4_=4x 25'X5:45 (39)3:3)(
5 4
3
18 | @f -2 |50 | S 2 =16 | (Pf=7 | 5%x*=15°
3 5
19 2—3:x (6°) =5 32.4% _ 2 (47} = 2 77=7X .37 = 3
2 9
20 | atx*=g* | 2%20=2* | (6°)=¢" Y 45.4% = 4° 3oy
% 3




Propiedades potencias (SOLUCIONEYS)
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